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1| W EEE 38 41 79 6.0 73.0 41 | WEARSE— 53 45 98 14.0 84.0
2 BB = 40 41 81 7.0 74.0 42 | fEEPHEZ 51 49 100 16.0 84.0
3 MrHiE] 41 42 83 8.0 75.0 43 | BIJIEK 50 55 105 21.0 84.0
4 KEERE 45 47 92 17.0 75.0 44 | Kt FE— 58 57 115 31.0 84.0
5 EiEEZ 41 43 84 8.0 76. 0 45 | FAER 46 50 96 11.0 85. 0
6 ApE= 45 46 91 15.0 76.0 46 | EBFEI 49 50 99 14.0 85.0
T HYET 43 43 86 9.0 77.0 47 | VESEE 46 56 102 17.0 85. 0
8 | ibATE A 45 46 91 14.0 77.0 48 HARIKE 52 50 102 17.0 85. 0
9 | FMRIEZE 44 43 87 9.0 78.0 49  EHH—E 57 53 110 25.0 85. 0
10 | [AAE 46 41 87 9.0 78.0 50 | RN 49 44 93 7.0 86. 0
11 Hf 46 45 91 13.0 78.0 51 | EJRfEsE 48 48 96 10.0 86.0
12 | KA 42 45 87 8.0 79.0 52 | 5L 59 57 116 30. 0 86. 0
13 | AW 46 44 90 11.0 79.0 53 | EERZS— 53 57 110 23.0 87.0
14 FHINEAN 49 42 91 12.0 79.0 54 | EZEENEST 46 49 95 7.0 88.0
15 EHFH= 48 45 93 14.0 79.0 55 | [LUAH I 67 52 119 31.0 88.0
16 | 4 [LBGRE 49 45 94 15.0 79.0 56 | JHEHFRAK 54 47 101 12.0 89.0
17 FRHEE 48 50 98 19.0 79.0 57 | fpifE 51 55 106 17.0 89.0
18 | FPFA 47 40 87 7.0 80. 0 58 | IBATEIE 49 52 101 11.0 90. 0
19 | i) IAERRR 46 42 88 8.0 80. 0 59 | PEHER 53 48 101 11.0 90. 0
20  HRRER 50 46 96 16.0 80. 0 60 | FBFVERE 55 47 102 12.0 90. 0
21 | RAARLFEL 47 49 96 16.0 80. 0 61 | AKAERE 51 52 103 13.0 90. 0
22 | F bf#ESC 49 48 97 17.0 80. 0 62 | EHEE 53 53 106 16.0 90. 0
23 WEBEA% 53 44 97 17.0 80.0 63 | FHRZE 60 54 114 23.0 91.0
24 HERH 47 44 91 10.0 81.0 64 @ EHAHEA 51 51 102 10.0 92.0
25 | HPEHETKRR 47 47 94 13.0 81.0 65 | FATAH 50 50 100 4.0 96. 0
26 | BN 51 45 96 15.0 81.0 66 @ JIIFEY 56 60 116 14.0 102.0
27 | B IER 49 48 97 16.0 81.0
28 | {[EPAE & 49 50 99 17.0 82.0
29  HiRAET 53 56 109 27.0 82.0
30 | HHEEAR 55 55 110 28.0 82.0
31 Bt 41 45 86 3.0 83.0
32 | fEHEEME 47 44 91 8.0 83.0
33 HdEr— 44 49 93 10.0 83.0
34 PEHER 51 44 95 12.0 83.0
3B FHEETF 47 49 96 13.0 83.0
36 | HTHEGE 49 47 96 13.0 83.0
37 KMEE— 50 48 98 15.0 83.0
38 MK E 43 47 90 6.0 84.0
39 | A HERAS 46 45 91 7.0 84.0
40 | 5 HDOERE 51 46 97 13.0 84.0
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